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Topic:- Child Development & Pedagogy (CDP)

1) As a teacher, what type of strategy you will follow in an inclusive classroom? / T Rree

& U H, 3ATY TP GHTGRN T | BA YR B 0 BT ure B2
1. All the above / SUgad Tt

2. Only Peer tutoring / Had TEHH] 118707

3. Only Cooperative learning / ac TgHNRI FRT&f

4. Only Collaborative learning /ad TGARTID RI&T

Correct Answer :-

+ All the above / ija\‘-f et

2) A person with capacities to respond appropriately to the moods, temperaments,
motivations, and desires of other people have good intelligence. / mﬁh,

TTHTG, TR 3% 3= Tt 1 g3l UR Ifra ufafsear 31 &1 &vdr arat sufad &
33T WU BT

1. Intrapersonal / GNERIESEY
2, Interpersonal / Sfdad(GadH

3. Naturalist / T aral
4, Spatial / BJIIEG

Correct Answer :-

. Interpersonal / 3{ddUTGIH

3) What type of learner is a child who learns best by taking notes during class and reading

them aloud before a'test? /WWWWW&T&H&% Gﬁﬁ&ﬂ%aﬂ?mﬁm
IR TET A U5d S TR § U@ dga¥ e 32
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1. Reading/writing learner / &/ ﬁ[ﬂzﬁ@"@e{ dfel)
2. Visual learner / T fRremeff

3. Cognitive learner / GJTH® fRremeff

4, Descriptive learner / guiHTe fRremadf

Correct Answer ;-

 Reading/writing learner / U&H/cra ﬁ[&ﬂiﬁ@@ﬁ CINI)

4) What type of parenting style is characterized by giving no rules or structure to children? /

gﬁﬁﬁaﬁs‘ﬁwmﬁmqéﬁﬁmwaﬂa{mm%aﬁﬁﬁwaﬂﬁaﬁﬂ

1. Enmeshed / 3Tl 311
2. Permissive / &lﬂtﬁw
3. Authoritative / 3TYBING

4. Authoritarian / Wlﬂef

Correct Answer :-

« Permissive / W

5) What phenomenon is experienced when one knows a person’s name but cannot remember

it in the moment? / T fRT &1 T8 U1 8 Afp depTal UTE AT M1 W fHd gea1 &1
YT BT 8?2

1. Tip-of-the-tongue phenomenon / feg-3ifp.g-ci ge
2. Recognition error / HI-II gi%

3. Forgetting / HcI-l

4, Retrieval cue / Q:quﬁ-?f SEX]

Correct Answer :-

« Tip-of-the-tongue phenomenon / feu-3{Tp_g-di ge

6) What theory focuses on the degree to which new information is mentally analysed? / Can|

T RIGid 39 W o9 Higd Har g f 98 SeR) &1 {5y g¢ 9% aFfie +ud
fazdwor frar Srar 82

1. Information processing theory / {j\dﬁl-HI(a?qIOb{Ul Rrgid

2. Relational analytical theory / HGHYUR®H ICESLNIGEARIEAR
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3. Levels of processing theory / i ATh 0T RIGId o &R

4. Deep level processing theory / TT8¥ WX &1 UfehaTenRul gl

Correct Answer :-

+ Levels of processing theory / feh a0 RIGid & TR

7) Impulsivity is a characteristic of the following disorder. / STl (smwl%rf%)
i fier ot te AR 21

1. Eating Disorder / Uy fapR
2. Attention Deficit Hyperactivity Disorder/ &< SHHIG giadr faeR
3. Learning Disorder / 3{feTH fd®R

4. Post-traumatic Stress Disorder/ U TS d91d fdbR

Correct Answer :-

« Attention Deficit Hyperactivity Disorder/ T 3{HId qichadn fasRr

8) Who among the following is not a learning theorist? / FeffRad o= T 3T
frsiaer T8 57
1. E.L. Thorndike / TSdS Udl YS9

2. E. Erikson / _sg Qﬁ?ﬂ:ﬂ
3. B.F. Skinner / &1.U0.RER

4. Ivan Pavlov / $a9 UTdaid

Correct Answer :-

o E. Erikson/ _sc Qﬂ_cm:l

9) According to Vygotsky, adults can help a child learn by building upon their knowledge
with new knowledge using techniques. / Wﬂ'&‘[ﬁ ® SR, 99¥h GEICa
D1 IYART HIP T [T P 1Y U J1H BT (4107 33 T 9o &1 W= d A R
AHd B

1. Scaffolding / SHTHWHITCSTT

2. Psychological / EEICRIIGED
3. Proximal development / THIU fabr
4. Ethological / 3UTQAINIGH A
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Correct Answer :-

« Scaffolding / THTHHICST

10) According to Jerome Bruner, representation involves encoding action based
information and storing it in our memory / ﬁ?ﬁ'ﬂ' % ufafafera |
qa%%ﬂmq mmmmﬁ%aﬁvsﬁmwﬁﬁmmm

1. Iconic / iﬂ?l’s’m
2. Figurative / JTABIND

3. Enactive / s:lﬂ'm
4, Symbolic / UiidTHD

Correct Answer ;-

« Figurative / STDIND

11) Principle of ‘zero rejection’ means —/ ‘Y[ S d o1 Rigiar &1 g g -

1. no child with disability will be denied opportunity to education. / ot oft foaai 5= & e & SaR I
dfera =gt fovan smem|

2. no child with disability will be discriminated upon. /forit 4t fediT s=t o ATy NgHTd el
oo e

3. no child with disability will be given admission. / Tordit it [GT St I Ta=T T8} faT ST

4. no child with disability can be served in regular school setting. / Tt +ff fiGaai 5= &1 fFafia
fqererg Tvamr # 98 faar S g j1

Correct Answer -

« no child with disability will be denied opportunity to education. / it 1t feaiT o= ! e & AR I
dferd et fopar Sem|

12) The Big five personality traits is also known as / a'% UTg Sfokicd A&I0T b1
& 99§ W AT ST 7

1. BROOK scale / fb W

2. RIVER scale / JaR ¥hd

3. OCEAN scale / 311G Wbl
4. CANOI scale / F1g ¥hd

Correct Answer :-

Page- 4



« OCEAN scale / 31T Thd

13) The famous psychologist who established the study of genetic epistemology which
explains the process of how people develop cognitively from birth throughout their lives is: /

T8 URIs wIagT=e R SMgafRe IH-usi 3Rd & S &1 wIa 31, S 39
TIHaT 1 SRS HaT ¢ (% 5 yhR i sitas Wi o7 S 99T w0 3
IECatCRICEACKS

1. Arnold Gesell / 3fTeS TRIT

2. BF Skinner / &1 Th PR

3. Howard Gardner / EﬂTﬂ—St MR
4, Jean Piaget / SiiA foamst

Correct Answer :-

« Jean Piaget/ S TSt

14) The cells in the body that conduct information to and from the brain are: / IR A

PIRSTY St 7RSS F SR TS AT TSR BT Hares bl 8, e g1l 6
1. Reproductive cells / ST SITRIHTY

2. Muscle cells / AU BHifRrepTT

3. Nerve cells / AT HIRTBIY

4, Blood cells / Xad $”§I$IQ

Correct Answer :-

o Nerve cells / aﬁwﬂ@m

15) Assuming another person’s perspective is known as: / ot o W%%WW@
UG HT 8:

1. Role strain / HH®T Ga1d (RIeT )

2. Role making / 4f¥ep1 FHfor Riet Afdh)
3. Role distance / YHHT g1 (I fexcw)
4. Role taking / HfHhT oF1 RId <)

Correct Answer :-

« Role taking / 'Hﬁiaﬂazﬂ (ﬂﬂ %T)
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16) Which sense takes the longest to develop? / {5 Tdg- @1 famfRia g1 ¥ siftrmayq
HHY T 82

1. Smell / o

2. Hearing / HUdl
3. Taste / g

4. Vision / ¥

Correct Answer :-

« Vision/ %’f@

17) Which of the following is the final stage of reasoning in post-conventional morality

according to Kohlberg? / FufafRad A ST Plgadtl & SR SR-ATGIITT
Afdear & a& &1 sifaw AR g2

1. Morality of universal ethical principles / qrddifee Afde 'EE'@[ o1 Afdmar
2. Morality of contract / ﬂﬂ%ﬁa &1 Afaear
3. Orientation toward punishment and obedience / GUS 3R 3R BT 3R S RCISE

4. Social concern and conscience / ATHTGTE HSIj‘{% 3R fad®

Correct Answer :-

« Morality of universal ethical principles / e Afae J-CLN\I' B1 Afdman

18) Grade Acceleration is recommended for educating the children. / = Bl

iféra #37 & fog 35 @rur &t R ot St g
1. Normal / XT¥IRU]

2. Disadvantaged / gfeid

3. Gifted / UfqHT=ITed!

4. Backward / ﬁ@@

Correct Answer :-

. Gifted / OfqHTRITE

19) According to Freud, the term hysteria describes:/ PTas & SR, %ﬁ’fﬁ‘éﬂ RMe DI 3ref

T
1. A phobia of animals./ SIEEREE] Uh Hifer
2. A phobia of people / QAT b1 Ueh BT
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3. The physical reaction to mental trauma./ AR TaTd & fot RIRS Ufcrishar

4, The physical reaction to emotional trauma/ HIdTdHD TUId & fore IR ufdfear

Correct Answer :-

« The physical reaction to emotional trauma/ HIdHD T & forg smiRkes ufaferan

20) Behaviorism was founded by / TAERAIG 5% GRT AT 4T 14T UT:
1. Tolman /aFITFT

2. John B. Watson / ST &I dredq

3.B.F Skinner/@gf.wm

4. Thorndike / Ul:1813$

Correct Answer :-

« John B. Watson /\_rl'\IJT'[a)[ drcd-

21) Which of the following is not a characteristic of the discussion method of instruction?

/a9 = A & R o 3t e ayar 781 82

1. The learners are trained for reflective thinking. / &r&lﬁir’q‘ra?mﬁmfﬁmésm orRIfera
[CRIEIGIE

2. It involves competitive cooperation. /Eﬂﬁmﬁw A %I
3. Itis an oral and written method of instruction. / g EIéfil G’ﬁ@ﬁl@?? eﬁv%@au@{ﬁr%l
4.1t is a group centred process. / I8 U W{e® dHixd Ul gl

Correct Answer :-

« |tis an oral and written method of instruction. / Y& ?‘léQI ﬁwﬁr@m Gﬁ'\’mﬁmél

22) The shape of one’s nose is determined by: / 3t &1 919 F1 MR W gr1 fAuifa

gl 8

1. Geography / qf'hﬁ

2. Environment / TTGRUT
3. Heredity / W&IW
4. Culture / W

Correct Answer :-

« Heredity / STdfRTehdl
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23) Learning should be focused on: / 3IfRRTH WX &1 Sfga fbar s =nfee:
1. what child is learning / ST &1 3fEATH B IGT 7

2. performance / AT

3. getting job / B T BT

4. marks/grades / 3{h/ DS

Correct Answer :-

« what child is learning / d=l RIT S{TTH B T %

24) According Jean Piaget, children develop abstract logic and reasoning skill during ./ ST forarst

AR, P IR gl § 3 acb 3R adh Birel fapRrd giar |
1. Concrete operational stage / tﬁf b TP AR

2. Formal operational stage / &Iﬂg'f TfhaTdTd TR

3. Preoperational stage / tlﬁ— T T 3TaRAT

4, Pleasure / 3G

Correct Answer :-

« Formal operational stage / 3111?? TihaTHD AT

25) The method which is based on the fact that students learn association, activity and
cooperation is known as: / dg fafyr st 391 9 uv sl ﬁ?ﬂ % ICAGIED QTI'E%T:B Tfafafir s
TeanT diEd g

1. Problem- solving / JHXI- JHTYTT
2. Project / TSI

3. Demonstration / T&=H

4. Discussion / fa=R-faw=l

Correct Answer :-

. Project / TaSHT

26) Inclusive education requires that schools should be free from the effects of negative

forms of ./ FHTa=h e & e sawge § & faemm, P THRIHAD =4I
F YT § g B

1. Imbalance / 3EJeT
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2. Differentiation / Hdh -
3. Diversity / fafaerar
4, Discrimination / U&UId

Correct Answer :-

» Discrimination / U&UTd

27) A commercial advertisement of food produces saliva in our mouth. This is because of

. /@mwmmsﬂﬁﬁgﬁmmmmélwﬁm
|

1. Operant conditioning / JHTORT HS IR

2. Sign learning / Udid S1ETH

3. Classical conditioning / FATRIH A PSIRIT
4. Latent learning / [t SHIRTH

Correct Answer :-

« Classical conditioning / FATNIH A Pl

28) helps the visually challenged people to read and write using finger tips and

special aids. / ﬁaﬁqﬁmﬁaﬁw@ﬁmmaﬁ?ﬁﬁnww%mﬂ
R U 3R forae § TgMadl #dar gl

1. Lovass / N
2. Braille /sief

3. Idea books / TaaR T (3Msfedn ga)
4. Idea starter / [dOR URY® (\HIE’%TIT E’I’&)

Correct Answer :-
« Braille /aﬁ
29) CANCELLED

According to John Dewey, the teacher plays the role of a in the learning process. /

ST 341 & YR, Riare it &1 uftrar o v ® YT Ry 81
1. Guide / ANIGRI®B
2. Facilitator / JAYR

3. Partner / 9T
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4, Philosopher / GRIMRIR

Correct Answer :-

« Partner / 9T}

30) CANCELLED

Stress affects learning negatively by: / 9919 THRIH® 7Y T W@ & YHIT BT 2|

1. causing learners to act out or zone out./ fRrenffal o rf He & forg URd B

2. teaching learners to improve their behavior./ 304 agR o gUrR B o forg Rrenffat w1
UelTl

3. encouraging learners to discuss their problems with peer. / I & 1Y I ! GHWTS TR

Tl - & (ol FRrefiat o efed @l

4, releasing adrenaline./ L{éﬂlﬂl’g"l SIRT AT |

Correct Answer :-

« causing learners to act out or zone out./ Rrenfial & s w1 & fo URa ST

Topic:- General Hindi (L1GH)

1) AIYEERT 7 37U TRRWR & Tt SISt 99013 8 | IS9P JTHA Igd Gara-T iiar Wi e 81 3961
T A 954 A9 21 U9 Bt Bt 7 7 3R T g T T 71 Feew SfUSRy & e § 1 wa-uie, Iwbiaat
T gl B @ BoaRl § ST g1 Ul 3% Jgd SrsT avrar 3 | T WY 3% URT HTw! g1 W B oa
o1 3t IRt &a Sl @ 3R SHIE F5 M BT 81 |Idl 8 99 Dot & A6 Igay W a8 SAdIp? HI-g &
TEN 98 ol W 904 § 3R Upfd 31 Se1 Ferd €1 579 4 39 79 31 gty et 81 fm grat s
famitg-waf #=ad €, 761 a9 TR T gU i g @1 Yoo &1 e # AU wure € Tt § Hear o W o1
yifer o ¢ B

Iudad T F UgHe HH 3T T vl & IR Farsy

R 0 B gy B | 7 ared 82

1. Hfe

2. faemm

3. By
4, 3D

Correct Answer :-

2) UIYTETE A (U TIHRER &1 Tt BT 941 7 | 30 A 9§ Gera-1 svirar ff arar g1 39!
ATV Tgd W9 1 9 B HH T | 3R o g 1S T 71 Feev SRSy & argrt €1 war-nid), vwifaat
T B H ) BarR) H ST 3T U S8 98d 31T T 8 | T o 399 URT HTW! 81 JTH $I &g
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o1 3t et &a el @ 8% STHI $5 [ BT 8l Il 8 79 DIt & A6 Igar U a8 SAAIdR HI-G &
TGN 98 Tei WX 964 & SR UHhfa 3t ger FgRd 81 378 a1 39 1+ &) gitd fradt 31 P geat a4
faFig-=at ®vd 8, T8 O U T 5U Wi 9% 3 Ued ol Ye W 3T Tara g wara ¥ AT o) Wy Bt
ifd ToIR 34 &

I TR P TP -1 3T T vl & IR Fasd

US: 3T ST Gaigar Jes T8l 82

1.9Y

2. AR

3. &R

4, HIDPIRI

Correct Answer :-

3) WIS A U TRRWR F1 T 1 g8 &1 ITP v 98 JeTa-T Fitar o Traman 81 37
1A 954 49 21 U9 $t Bt T 7 iR T g Tl T 31 o SifUBy & s § 1 wa-uie, ywbiaat
H gVl § O BoaR] | STl g1 U 35 agd 3<sT Tl & | FAg W 3% U ST ¢ | W B &7a
o1 3t IRt & Wt B SR AU F5 T BT 81 |16l 8 99 Dot & 16 Iga? W a8 SAATPR HI-IG &
WER 98 Telld W 354 § R Upfa 31 oer FeRd 81 579 7! 9% 79 Y it forercht 81 i gg o o9
famite-=af ®=a €, 78 a) TR T g¢ i g @1 A &1 Yo # AT Tura € TuTe # Hear &) Wy 3t
Yifer ToR & B

S TR B UghR A AT Y vl & SR 9arsy

UT: "’ DT UITIarE] Wes 81 82

1. gu-

2. 7Y

3. 3G
4.

Correct Answer :-

4) AYISGRT 7 ST TR Ft TR HIdt g9a18 §1 TP ITHA Igd JeTa-T aitan ot aramn 81 37a!
T Y gga 09 1 9 B HH T 7 iR o g 1) T g1 Peam ey & enerdt €1 wa-uid, vwifaal
¥ gl § O BRI A STadl g1 U S agd s8] aTdl & | FHg Wi 391 U ST 5| ¥ Bl &q
o1 3t TRl & Ol @ 3R SH $3 7 BT 81 Wil § 99 Dt & 16 Iga? W a8 SAdIpR HI-IG &
TEN 98 ol T 904 ¢ 3R Upfa 31 Ser Ferd 81 379 aM 39 79 31 gty fireedt 21 fm gra s
famite-wraf #=a €, 6 9 T T gU BRI g9 @1 Ao & e # AT Ture € Ut § Hear $f Wy 91
yifa TaR 34 7

ST TR P USH - 3T T 7l & IR Farsd

U T @ T dared 82

1.65@?&1@%@@@%%%
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2. I8 1 Wiies i
3. M pus
4, Id @ 3fe arelt d1aR

Correct Answer :-

« P ATYd & UM Y g7 Giet fawad

5) WIYAERT A U WTHRWR $t 0t SIS} aa1s 81 I0H A Tgd Jara-1 i ot avrarn g1 39!
T Y gga U9 B U B HHt T 7 iR e g 18 man g1 geaw ey & anerlt €1 wa-uid, voifaal
J B § T BoaRl H ITedr 31T U 37 I8d 33T AaT 7 1 T WY 3P U FIHT 51 AW B od
&7 3t TRl 5@ STl @ SR SITHHT HE T P18 i1l € 99 BIST P qTe) TGk U A6 SAaTpL GG P
BN 98 el W 354 & SR ugpfa 31 oer iR §1 57 A $9% 79 &) gft firerch 71 B gu dt o
farig-=at ®va g, 78 @ U 3 gU Wi g9 & Yed &1 Yo § T wara g ware # Hear &) Wy ot
ifd TR &a B

IuYad T B UgH? 1 3T T vl & IR Farsy :

UR: AR Weg e T A w R

1. faa=ft

2. dgH

3. d&d

4, S-S

Correct Answer :-

6) HIFS A U HRRWR Ft T 1St g9a18 T ITP JTHA 984 JeTa-T Fiftan ot Traran 81 37!
T A g5 UH g1 U9 Dt ST T8I 8 3R T G T8l T B 1 Grox USRI & et § 1 pa-uied, Ibiaat
J ol § ) ARl B ST Al g1 U 3¢ 9gd 35T el ¢ | 99 WY 371 uTH T 71 =09 &Y e
o Y TRt e STl @ SR ST B 30 BT €)Y SIICT & 99 BIST F TR IR W I Searh HEAE b
eI 98 el IR 364 & 3R Upfa 31 Ser Ferd 81 379 a4 3¢ 19 &1 gty et 81 fm gual o=
faiig-=af @7a g, 781 @ o ¥ gU BRif 59 &) "o & Yo # fou wura €t wara # e &1 way o
Uife TR &4 B

IUYd TR DI UgH A 3T T wel & IR Fa139 ¢

UR: X & GHY BT TG ST gIaT 82

1. AT A F3 11 H1 51 a1 &

2. Had fe @1 T g ol §

3. o7 1 it @@ et § ST SIRHH B% W1 H1 61 Ol §; il

4. f i g ol 3

Correct Answer :-

. e Y 7l ot Sl & SR S| B3 T &1 81 SildT 8; Sl
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7) HIUGSRT A U WRRER $t Tt P18t a918 3| ITP JTHA 95 JeTa-T aiftan ot araran 81 39w
T S Tga U9 1 U B HHI T 7 R T Y TE T g1 Feaw PSR & et €1 wa-uid, wwifeal
[ Bl § T BoaRl H ITerdr 31T Ul 3% Jgd ST avral 7 | T Y 39 URT HTH! B 1 W B o
o1 3t et ga STl § SR SH $5 7T BT 81 Al § 99 D13t & 16 agay U a&d SAdIdR HG+IG &
BN 98 el W Jo & SR vopfar 3t oer FigRa €1 57 ) 9% 79 91 gft frerch 31 P gu dt o9
faie-==af $va g, 78 9 U W g¢ BRif g9 &) U &) e § fRu wura € wara # Hear &1 Wy &
Yife o 3 &1

SUYF TR B UgHR A 3T T vl & IR Fa139 ¢

u: SRRy # o @ 82

1. U

2. PRH

3. fefm

4, U

Correct Answer :-

8) WTIHYFSTH A AU TRRER Bt T4t HISt §71a1S ¢ | IqP ATHA 9gd Jera-T1 it ot avrar g1 39
AT Y 9gd U9 1 99 B HHl T 7 iR o g 181 T g1 Peaw ey & enrert €1 wa-uid, vwifeal
J gl § @ BoaRl # Ived g1 UHI 33 Igd ST avral 3 | I WY 39 URT $TW6! 51 W B oid
& & TR} oo oIl € 3R STHHT HE I T &1 1l & 99 PIST F A8 gAY W qG SAGTHL HIAG
HEN 98 el TR 964 § 3R Ui 1 Sl Ferd 81 570 A 396 |9 31 giay et 81 e gual o
faie-waf va g, ) @ o T gU Bif 599 &) T & Yo ¥ v wura € wara # e &1 way o
ife TR &4 B

IUYa TR B UgH i 3T ¢ uHi & IR qa1sy

UR: AIYGE 59 PR & SeH! 82

1. grax MR ared

2. 1 3nredi ardl

3. e qife fore i

4. BBR 3R SR B

Correct Answer ;-

o G AT AT

9) HIESRT A U TRRWR Ft T HISt §a18 T ITP JTHA Tgd JeTa-T it o Traman 81 37!

AT Y Tgd 09 1 9 B HH T | 3R I TSN T g1 Feev SRy & anert €1 wa-iY, twrfaal

W vl ® ol PR | ITerdl g3 U 3 agd ST @TdT & | AT WY 3% URT STW! § 1 X &I o

a1 o1 TReft g Tt 3 SR SIRTH F 391 $T 81 91T § 99 BT & A16R IR WR a SAATdY WG &

TER T8 TeiE W dod & 3R Upfar &1 TeT FgRa &1 578 °r 39 74 &1 gty et 81 e gu at 399

Tﬁa—aﬁggﬁﬁﬁm@@mﬁgﬁﬁmﬁﬁsﬁﬁqmﬁmﬁﬁwaﬁmaﬁ
TOR ¢4 §1
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IUYa TR B UgH A 3T T vl & IR 9413y
UR: WG P B3t S HTHA FT UT?
1. ST

2, SICTRIY

3. Hed
4, ST

Correct Answer :-

10) HIYGERT 7 (U ITHRER ) T HIS) a1a1s 81 S A dgd gera-1 avirar Y wvramn 31 395t
T Y Tgd WA 1 U7 BT HH! T1 § 3R HA F 81 T 71 o S & ol §1 Ta-uid, Yewrtaay
[ gl § T BoaR] H ST 3T UMl 32 dgd SrsT el 7 | T WY 39 URT $TB! g1 W B o
o1 3t 1Tt &a Sl 8 SR MU $3 [ BT g1 A1l § 99 DSt & 16 ggay U a8 SAdIHR HG+IG &
TGN 98 T W 964 ¢ SR UPpfa 3t Ter fFerd §1 5787 U 39 14 &) gt fradt 31 i gedt s9d
fae-Taf w4 &, 78 a1 TRT T gU BRI gob @) Yo & Yo N AT Ture € Ture ¥ Hear &) Wy a1
Yife o & §1

ITYF TR B UgH A 3T T vl & IR Fa1sd

ULT: HIYGErT P T 9§ ST aidl 82

1. IR H ISadl g3 gt
2. TR TR ST

3. HYAG T

4, Upid &1 Bl HgRA

Correct Answer :-

« TRl H ISl gAT UM

11) HTYGET 7 (U ITHRER B Tl HISY SaTs 8 | ST A 9gd gera-1 avitan off avmarn 31 399t
AT § 9gd U 31 ¢ Bt HH T 7 3R o g 18 T 71 gra SRS & sigHt €1 pa-uid), vwifaal
T Bl § T BoaR] # ST 34T Ul 3% Jgd ST avral 7 | T Y 39 URT HTH! 71 W B oG
o Tt e o W @ 3R SH g M BT 8l Il & 79 DIt & AIe” Igal W ad Saardp? UG &
e 98 T W 364 & 3R upfa 3 Se1 Ferd 81 379 7 3% 74 &1 gita et 81 fm guar o
famie-=af w=a g, 75 O TR T g¢ Wit g9 @1 O 3 Yo ¥ fiw Tura 8 wura ¥ W &) Wy at
ifd TR 34§

Iudad T $ UgH 1 3T T vl & IR Fa1sd

U: HIYGSrT S ford Her 9 9w ur?

1, PI3T
2. IR

3. odl
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4, I

Correct Answer :-

12) HIYGET 73U ITHRIR 1 T HISY g7a1s 8 | 3P A 9gd gera-1 seir=n +ff evmaran 31 395!
Pl Y 954 A9 &1 U9 Pt Bt T § iR ouw g 181 T 81 eew USRI & et €1 wa-uie, Ipiaay
J ol ¥ o ARl | ST adr g1 U S8 9gd SrsT el ¢ | 99 WY 391k UTH BTl 1 0 &Y e
3T Y et oo STl @ SR ST B 30 BT €Y ST & 99 BIST F TR IR W I Searh? HEAE b
e 98 T W 354 € SR Ul 31 ST Ferd €1 578 7 379 99 31 gty et 81 fm ge i o=
farig-=af ®a €, 781 @ U 7@ g¢ Wil g9 @) Ao &1 Yo H AT wura €t ware # weAn &t wau 3t
Uifd TR 34§

ST T F UgH A 3T T vl & IR 99139 ¢

U: WASRT Sfd® ©U | $d 82

1. 3&H

2. Yt

3. e

4. e

Correct Answer :-

13) HIYTSRT 7 (U FTHRAR B T HISY g7a1s 8| TP A dgd Gera-1 avirar ff wvmar g1 395t
P A 984 9 1 99 Pt B T B iR T g 1SN T B 1 Geem AU F et &1 wa-uie, Ipiaay
Y vl ¥ T PR § IS AT g3 U1 S 9gd ST e € | T WY 39 U 1wl § | XM 6 o
o1 3t et ea SITeht B SR U B8 T BT Y Il § 99 DSt P A6 agan U a8 SAATHR AGG B
TEN T8 T W 934 & 3R UHhfa 3 Fe1 fAerd &1 379 A 39 949 &1 gty fradt g1 P grar s
faie-waf H7a &, 7E @ U 3@ g¢ BRif 59 &) U & Yo ¥ v wura &t wara # e &1 Wy &
uifd 7o A B

ST T B UgH A 3T T vl & IR Fa139

U AG P TR Tad W i 9T 82

1. o

2. HIYAE™T
3, HIYder & URaRSH
4, HIITEME

Correct Answer :-

« HIYdaq
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UTYAST A 3T FTHRIR 1 74 HIS) a7a1s 81 S A dgd Gera-1 seiran WY evramn g1 396 wan
T 9gd A9 g1 4 D1 Bt A8 § SR s g 8 T B 1 o SifUS i & aneHt ¥ pa-md, Ihraal &
BISl & ol BeaR] A IV adT g1 UTHI S 9gd SreST aTal & | 90 ft 3919 Uy STw! 8 1 3 &1 o9 fo
P TR T SN € 3NR STAH P57 HT 8l STdl § a9 Do & 916 Iga? IR 7% SAdIPR HIG &
BN 98 Tl IR 964 ¢ 3R Upfa 1 Tl fFeRd §1 378 A1 39 749 &1 gitd fad! 31 e grar 399
famie-=af &= g, 78 9 TRy ¥ g¢ Wit g @) e 3t Yo ¥ fiw wura 8 wura ¥ Hear &) Wy 3t
ifd TR 34§

Iuad T P UgH 14 3T T ual F IR Farsd

US: WG &1 WA fhd &0 § gl 82

1, o & wu d

2. IR b TU H
3T HEUH
4. AFAFFTUH

Correct Answer :-

. dipA B ETH

15) HIHTS 7 (U TR B A 1S} 377913 81 SHS T dga gera-1 guian +ft araran g1 39!
Tl T 954 A9 g1 U9 $t Bt T 7 3R uwT g Tl T 71 e USRI & e €1 pa-uie, Ibiaar
J ol § o) ARl B ST adr g1 U 3¢ 9gd SrsT el ¢ | 99 Y 37 uT STl B 1 =09 &Y e
o Y et et STl @ SR ST B I BT 8 ST © 9 BIST F e IR W 9 SeaTh) HYAG B
TER 98 TR W 964 & 3R Upfa 9 o1 FeRa &1 578 a4 377 749 31 gty frerd! 81 e ge at 399
famitg-Traf ®=a €, 781 a1 TR T gY BRI gob @1 Yo &1 Ye H AU Ture € Tura ¥ Hear ol Wy &1
Uifd TR 34§

IUYad TR $i UgHT i 3T T wei & SR qa1sy

U P Ut FIdt TR B gars?

1. HiYdqld

2. HiYdq™

3. HiYdq|

4, HIYdIary

Correct Answer :-

o HIYdGN

16) UTad g I, udd uew,
Ud-Ud uf¥afdad ypia-asl

TARAATHR Udd IR

3T e T-GAA FTS,
3P V8T & TR-IR

1 wa # e HEToR,
-forae =R |/ ver 9t
o |1 Ser @ fammen
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faf¥ 71 MRa MHR IR-3R
e A F99-9 Idford &Y
il &1 afsal It Fox
RO § T W AR

IWIT U= BT UgHR i1 3T 7T weif & IR qargy
US: $fd B goIR] P [PIBT a8 T @ 82

1. Aid P} ASTT B RE

2. UETS &1 318l B G

3. 98 3R P TRB

4, GUUT 1 TRE

Correct Answer :-

. TUGTS Pt 3@ Bl kg

17) Uraq g fl, udd wew,
Ud-ud giafda ypfa-asri

AGATHR gdd 3R
3T -GH BTS,
I TGT § IR-TR

i wa § e 1R,

-forae 9= A ver ara
dor a1 e @ fomen

faf¥ &1 MRa MHT IR-3R

e § - Iaford &%

it &) afeal I g=r

IRA @ 91T W fei

ST U= B UGy 1 3T 7T usi & SR 9argd
URH: Udd I Ugigdrs] Xeg 8?2

1. HAd UgTS

2. Pad A

3. Had 3Ed

4, IV Tt

Correct Answer :-

o SWRIad I+t

18) UTaw Fq oI, udd wew,
Ud-ud gikafda yefa-asri

AGATHR Udd 3MUR
3T T T-JHA BTS,
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ITANF ¥ET § IR-TR
i oa § e "HeTeR,

-forre == A ver 9
dur 1 e § fo=men

i 71 MRa MHR IR-3R
e H TFH-19 I« BR
it ot afsal W@ v
TR & 71T W i

IWfad UL DI UgH 1 f3T 7T usi & 3w qarsd
T IRA PP TR &7 T H IR 82

1. dlelld

2. 94!

3. g4l

4, 9dq

Correct Answer :-

19) UGy g o, uda wew,
Ud-ud ufkafad ypfa-as

TEATH Udd UR

3T T T1-GA BTS,
3daIP 8T & IR-IR
I oa A At HeTeR,

-forae =R A ver ard
dor 91 tar @ famen
faf¥ &1 MRa MR IR-3R
e § TFH-19 Iiford H%
Tt ot afsal W v
A 8 I W R

I UL HI Ugeb? - fU ¢ Ui & SR Tarsd
U RA P go- P 31 18 22

1, TS o

2. Uil o1 afeal 9

3. BRI g ¥

4, TYUIY

Correct Answer :-

. Hidl B el A
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20) UTeY %4 A, uda yas,
Ud-ud gikafda ypfa-asri

JEATH Udd 3UR

U TS TI-GHT BT,
3G YT & TR-IR
Hi= oa | e e R,

- =R A ver ara
o 1 e © femmen

faf¥ &1 MRa MHR IR-3”
e # T99-99 Iford &2
it @t afsal ® e
T & I W i

IRT U B! g -7 3T 7T g & IR qargy
T P A qrerE H qEa e s 82

1. et g

2.4 Y

3. qUUT Y

4, 79d 9

Correct Answer :-

21) UGH %q &, uda e,
ud-vd uivafda ypfa-a=n

AGATHR gdd 3UR

3 TG T-GAA BT,
3qI® 8T & TIR-IR

R o9 # 9 WETeR,

-foras =@=uit A uar ara
o 31 e § fa=men
faf¥ &1 MRa meT IR-3R
e H -1 S ford B
ot @) afea W gev
TR & o WY feh

ST TR F! Ugh? 1 T T U F SR Tarsd

U UTad B A upfa § B a1 ufkady omar 22

1. Had Udd & JI dl arardl § Udd! Bt IReTs fe@ms sl gl
2. Fad V- Bdt e oI B

3. A HIGH B e Saerdl o

4. JURIad Tt
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Correct Answer :-

. SWRIgd g4t

22) Urad Bg AN, udd v,
d-ud ufeafdad ypfa-as

AGATHR gdd 3UR

3T T 1-gH BTS,
3T Vg1 & IR-91)

R wa § e HETeR,

-forge =R | ver ard

gdur 91 bar g fa=men

it o1 7RT MR IR-3R

e H I99-99 Iford BT

Yt B afsar W g
R & T W i

IUYS U= DI UG i faT 7T Ui & IR aa1gd
U UTaH By § UPid &1 0?2
1. gd TRH TS &

2. YYD &I o1l 3|

3. B &V 9Sd 3|

4. TS SeAdT B
Correct Answer :-

. YU ISAT |

23) e Bq &, udd uew,
Ud-ud gRafed U fa-a=rl

ATATH Udd 3UR

3 v T-GHA TS,
3P V8T & TR-9IR

i wie § e "HETeR,
-forrd =R A ver ard
uur 91 bar @ fa=men
iy &1 7MRa MHT IR-3R
e A F99-99 IAford BT
Tt 3t afsal W v
A 3 T W Fgie

IUYdd U= Bl UGHT id faT 7T Ui & IR 9argd
U AT BT o 32

1. Td
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3. geait

4. q

Correct Answer :-

24) UG Hg 0, T Ui,
- Rafed g f-amT

FATHR gdd IR
mmw_wm’
W%W-aﬂ
i o & O TeTeR,

ot T et & Ry
ﬁlﬁ'WTﬁﬁwm_m
e # TE-TT S X
I 1 e ot g
T § R e

ST T B Uew) ) T 7T us & S gared ;
A G TG P 9 1 I 52

1. ST Y B e

2. TETS! R e gkt o |

S oerE e

4. B FRIN Y

Correct AnswEiE U

TR TR

25) mmm,mm’
ue-uer uRafed wepfa-ai

FATHR Uad IR
G@WE_WW’
W%aﬂ-m
M o & PO TETeR,

ot B & e
fafy &1 Mg MHR IR-3R
e § -9 IR B
il 1 wfeal ot e
RALERALE L
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Iuad TR B Ugdb - fT 7T usi & SR Tarsd
TR “HEXA’ BT AR T 572

1. RS

2, Hoer

3. 8ol
4, <9

Correct Answer :-

26) UIGY g A, udd vew,
Ud-ud gikafdd g fa-a=ri

AGATHR gdd 3UR

3T T T1-JH BTS,
ITANF ET & IR-TR

R oa § e "HETeR,

- =R A ver At

o 31 e @ fommen

¥ &1 7RT PR FIR-3R

e H T99-99 I &Y

it @t afsal W@ =

RO € ImT W fasfn

IUYad U= Bl UG Hid fau 7T Ui & IR ad1gd
US: e Ut FrE A A | g2
1. fae=h

2. SRS

3. dogH

4. dwad

Correct Answer :-

27) Uew Bq &, udd udw,
Ud-ud gikafdd Upfd-a=ri

AGATHR gdd U

3T T T1-JA BTS,
TN @1 & IR-TR

R wa § e "HETeR,
-forae =R A ver 9t
uur 91 Ueet @ fammen
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faf¥ &1 MRa MHR IR-3R
e A F99-9 Iaford &Y
il &1 afsal It Fox
A § 9T W i

ST U= B UG 1 3T e usl & SR gy
U: UG’ g I 7 ared g2

1. 98d Fg

2. Usq %

3. 991 Bq

4. A Bq

Correct Answer :-

28) e Bq A, udd uew,
Ud-ud giafda ypfa-asri

AGATHR gdd U

AT e T-JAT BTS,
I TGT § IR-TR

i wa § A HeTeR,

-forae 9= A ver ara
dor a1 e @ fo=men

faf¥ &1 MRa MHT IR-3R

e § - Iaford &%

it &) afeal I g=r

IRA @ 91T W ek

ST U= B UGy 19 3T 7T usi & SR 9argd
U ‘3[qai® 381 & IR-aR’ | 3aaid 9 STy 8?2

1. G

2. ST

3. q@Hl

4. Q-1

Correct Answer :-

29) UTeN %g &, udd uew,
Ud-ud gikafda ypfa-asri

AGATHR Udd 3R
3 T T-JHA BTS,
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3qa® T § IR-91%
i oa § e HeTeR,

-Rrres == A ver 9
uor |91 Har @ fawmen
¥ &1 MRa MHR IR-3R
e H TFH-19 I« BR
it 3t afsal W@ v
TR & 71T W i

I UL Bl UgdH 1 f3T 7T Ui & IR qarsd
U e ¥ qel i 32

1. fa1a

2. faamm

3. faRiy

4, A&

Correct Answer ;-

30) U9 Bq &, udd udw,
Ud-ud ufkafad yepfa-as

AGATHR gdd U

3 TG T-JAA BTS,
3qalP ¥8T ¢ IR-aR”

i oa o et "eTeR,

-forae =R A ver ard

uor 91 thar @ famen

faf¥ &1 MRa MR IR-3R

e H TFH-19 Siford H7

it ot afsal W e

A 8 I W R

IuYad UL B Ugb -7 faT 7T usl & IR aarsd
UT: "t v FrE A S T @2

1, gt

2. TAIfCT

3. IHTTAT
4, TYGHIHT

Correct Answer :-
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Topic:- General English(L2GE)

1) Read the poem carefully and answer the question given below:

“You are old, Father William”, the young man said,
YAnd your hair has become very white,
And yet you incessantly stand on your head,
Do you think, at your age, it is right?”
“In my youth”, Father William replied to his son,
I feared it might injure the brain.
But, now that I'm perfectly sure I have none,
Why, I do it again and again.”
“You are old,” said the youth, “as I mentioned before,”
And have grown most uncommonly fat;
"Yet you turn a back somersault in at the door,
Pray, what is the reason for that?”
“In my youth,” said the sage, as he shook his grey locks,
I kept all my limbs very supple,
By the use of this ointment, one shilling a box.

Allow me to sell you a couple.”™ Lewis Carroll

A word similar to the word ‘incessant’ in the poem would be:
1. continuous

2. periodical

3. ending

4, interrupted

Correct Answer :-

¢ continuous

2) Read the poem carefully and answer the question given below:

"You are old, Father William”, the young man said,
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“And your hair has become very white,
And yet you incessantly stand on your head,

Do you think, at your age, it is right?”

“In my youth”, Father William replied to his son,

I feared it might injure the brain.

But, now that I'm perfectly sure I have none,

Why, I do it again and again.”

"You are old,” said the youth, “as I mentioned before,”
And have grown most uncommonly fat;

“Yet you turn a back somersault in at the door,

Pray, what is the reason for that?”

“In my youth,” said the sage, as he shook his grey locks,
"I kept all my limbs very supple,

By the use of this ointment, one shilling a box.

Allow me to sell you a couple.”™ Lewis Carroll

How would you most likely describe father William?
1. A young, healthy sage

2. An old, fat sage

3. An old, fit, grey-haired sage

4. An old, fat, grey-haired sage

Correct Answer :-

« An old, fat, grey-haired sage

3) Read the poem carefully and answer the question given below:

“You are old, Father William”, the young man said,
"And your hair has become very white,
And yet you incessantly stand on your head,
Do you think, at your age, it is right?”
“In my youth”, Father William replied to his son,
I feared it might injure the brain.

But, now that I'm perfectly sure I have none,
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Why, I do it again and again.”

"You are old, ” said the youth, “as I mentioned before,”
And have grown most uncommonly fat;

“Yet you turn a back somersault in at the door,

Pray, what is the reason for that?”

"In my youth,” said the sage, as he shook his grey locks,
"I kept all my limbs very supple,

By the use of this ointment, one shilling a box.

Allow me to sell you a couple.”- Lewis Carroll

What is the 'it' Father William is referring to in the given line?
I feared it might injure the brain

1. putting on excessive weight

2. having grey hair

3. trying a somersault

4. standing on your head

Correct Answer :-

+ standing on your head

4) Read the poem carefully and answer the question given below:

"You are old, Father William”, the young man said,
YAnd your hair has become very white,

And yet you incessantly stand on your head,

Do you think, at your age, it is right?”

“In my youth”, Father William replied to his son,

I feared it might injure the brain.

But, now that I'm perfectly sure I have none,

Why, I do it again and again.”

"You are old,” said the youth, "as I mentioned before,”

And have grown most uncommonly fat;

"Yet you turn a back somersault in at the door,
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Pray, what is the reason for that?”

“In my youth,” said the sage, as he shook his grey locks,
"I kept all my limbs very supple,

By the use of this ointment, one shilling a box.

Allow me to sell you a couple.”-Lewis Carroll

What most likely do you think is the objective of Father William?
1. To show the boy how healthy he is

2. To show the boy his agility

3. To prove to the boy that he is still young

4. To impress the boy and make a sale

Correct Answer :-

» To impress the boy and make a sale

5) Choose the appropriate pronouns for the given sentence .

aunt had a three-year-old daughter when lost husband.

1. His, they, her
2. Her, they, their
3. My, she, her

4, Their, she, his

Correct Answer :-

» My, she, her

6) Fill in the blank with the correct option in the given sentence:

The man was completely devastated and felt all the time, after the death of his wife.

1. longingly
2. longed
3. lonely

4, loneliness

Correct Answer :-

+ lonely
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7) Which of the following options best combines the following sentences?
He is very old. He cannot walk.

1. He is old and he cannot walk.

2. He is too old to walk.

3. He is very old enough not to walk.

4. He is so old but cannot walk.

Correct Answer :-

» Heis too old to walk.

8) Choose appropriate articles for the given sentence:

Jaipur is ___ beautiful place to visit provided you have _____ proper information of places.
1. a, the

2. an, no article required

3. the, a

4, no article required, a

Correct Answer :-

9) Choose the appropriate option that rewrites the given sentence in its active voice.

Their lessons are being learnt by them.
1. They are learning their lessons.

2. They are learning lessons.

3. They were learning their lesson.

4, They learnt their lessons.

Correct Answer :-

¢ They are learning their lessons.

10) Choose the appropriate synonym for the highlighted word in the given sentence.

I paid her a compliment on her getting the first place in the university examination.

Page- 29



1. flattery
2. tip
3. praise

4, reward

Correct Answer :-

¢ praise

11) Choose the appropriate tenses to fill in the blanks in the given sentence:

We can out now. It any more.

1. went, didn't rain

2. going , doesn't rain
3. go, isn't raining

4, never go, isn't raining
Correct Answer :-

* go, isn't raining

12) Choose the appropriate antonym for the highlighted word in the given sentence.

That mistake was a result of crass incompetence!
1. careful

2. insensitive

3. vulgar

4, refined

Correct Answer :-
e refined

13) Choose the appropriate conjunction for the following sentence:
He showed a lot of promise in his new job his manager gave him a quick promotion.

1. because

2. as
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3. and

4, but

Correct Answer :-

14) Choose the appropriate prepositions for the given sentence:

Let's be straight each other and don't jump _____ conclusions.
1. against, for

2. with, to

3. at, through

4, for, into

Correct Answer :-

o with, to

15) Choose an appropriate modal for the given sentence:

you pass me some salt, please?
1. Might
2. Must
3. Could

4. Should

Correct Answer :-
e Could

16) Choose the option that best explains the highlighted expression:
Your little brother is a pain in the neck.

1. a toddler

2. a chatter box

3. a big bore

4, a big nuisance

Correct Answer :-
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« a big nuisance

17) Choose the option that best transforms the sentence into its Indirect form:

‘Beware of pickpockets,’ said a huge notice.

1. A huge notice instructed us to be aware of pickpockets.
2. A huge notice is warning all the public to beware.

3. A huge notice warned us to beware of pickpockets.

4, A huge notice has claimed us to beware of pickpockets.

Correct Answer :-
+ A huge notice warned us to beware of pickpockets.

18) Choose the option that substitutes the given phrase appropriately.

That branch of physics dealing with movement and force
1, Static

2. Dynamics

3. Electricity

4, Energy

Correct Answer :-
¢ Dynamics

19) Read the sentence carefully and choose the option that has an error in it:

We were officially notified of the newly public holidays.
1. officially notified

2. of the newly public holidays.

3. We were

4. No error

Correct Answer :-

« of the newly public holidays.
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20) Read the sentence carefully and choose the option that has an error in it:

Just before he died, my friend who writes books published his second book.
1. my friend who writes books

2. published his second book.

3. No error

4, Just before he died,

Correct Answer :-
¢ my friend who writes books

21) Change the given statement to indirect speech.

“If you refuse to hand over the car, I will cancel its registration,” said the officer to the woman.
1. If you refused to hand over the car, I would cancel its registration said the officer to the women.

2. The officer told the woman that if she refused to hand over the car, he would cancel its registration.

3. The officer told the woman that if she refuse to hand over the car, he would cancel its registration.

4. The officer warned the women that if she refuses to hand over the car, he will cancel its registration.

Correct Answer :-
» The officer told the woman that if she refused to hand over the car, he would cancel its registration.

22) Read the following passage and answer the question given below:

When you buy a car, examine carefully the important features of the model you are considering. Many a
buyer of the latest models have got into trouble by buying a car too broad or too long for his garage.
Furthermore, a longer car is much harder to manoeuvre in traffic and much more difficult to park.
Another feature is the comfort afforded. Are the seats nice and durably upholstered? Is there enough glass
area to give the driver a good view in all directions, particularly the rear? It should be remembered that
the heavier and more powerful a car is, the more expensive it will be to operate. High-powered motors
require expensive high-octane petrol. The greater weight means greater tyre wear and enlarged brakes.
The old cliché is still true; it is not initial cost but the upkeep which matters!

It is very expensive to maintain a large car because it
1. is heavy

2. needs more durable upholstery

3. needs changing its tyres more frequently

4. requires more space for parking
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Correct Answer :-

» needs changing its tyres more frequently

23) Read the following passage and answer the question given below:

When you buy a car, examine carefully the important features of the model you are considering. Many a
buyer of the latest models have got into trouble by buying a car too broad or too long for his garage.
Furthermore, a longer car is much harder to manoeuvre in traffic and much more difficult to park.
Another feature is the comfort afforded. Are the seats nice and durably upholstered? Is there enough glass
area to give the driver a good view in all directions, particularly the rear? It should be remembered that
the heavier and more powerful a car is, the more expensive it will be to operate. High-powered motors
require expensive high-octane petrol. The greater weight means greater tyre wear and enlarged brakes.
The old cliché is still true; it is not initial cost but the upkeep which matters!

The author favours a car with a wide glass area so that the driver can
1. enjoy the scene outside while driving

2. display his beautiful upholstery with pride

3. have a good view of all sides

4. roll down the glass panes to get enough fresh air

Correct Answer :-

¢ have a good view of all sides

24) Read the following passage and answer the question given below:

When you buy a car, examine carefully the important features of the model you are considering. Many a
buyer of the latest models have got into trouble by buying a car too broad or too long for his garage.
Furthermore, a longer car is much harder to manoeuvre in traffic and much more difficult to park.
Another feature is the comfort afforded. Are the seats nice and durably upholstered? Is there enough glass
area to give the driver a good view in all directions, particularly the rear? It should be remembered that
the heavier and more powerful a car is, the more expensive it will be to operate. High-powered motors
require expensive high-octane petrol. The greater weight means greater tyre wear and enlarged brakes.
The old cliché is still true; it is not initial cost but the upkeep which matters!

The size of the car should be in accordance with
1. the width of the road where the buyers lives

2. the size of the garage the buyer has

3. the volume of the traffic on the road

4. the money one can afford to pay

Correct Answer :-
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« the size of the garage the buyer has

25) Read the following passage and answer the question given below:

When you buy a car, examine carefully the important features of the model you are considering. Many a
buyer of the latest models have got into trouble by buying a car too broad or too long for his garage.
Furthermore, a longer car is much harder to manoeuvre in traffic and much more difficult to park.
Another feature is the comfort afforded. Are the seats nice and durably upholstered? Is there enough glass
area to give the driver a good view in all directions, particularly the rear? It should be remembered that
the heavier and more powerful a car is, the more expensive it will be to operate. High-powered motors
require expensive high-octane petrol. The greater weight means greater tyre wear and enlarged brakes.
The old cliché is still true; it is not initial cost but the upkeep which matters!

According to the author, two factors that the buyer of a new car should keep in mind are:
1. Its upholstery and glass area

2. Tts colour and upholstery

3. Its size and comfort

4. Its price and size

Correct Answer :-

o Its size and comfort

26) Fill in the blank with the correct option in the sentence:

She acted as a peace-- between her squabbling children.

1. --sign
2. -ful

3. -fully
4. --maker

Correct Answer :-

e --maker

27) Fill in the blank with the correct option in the given sentence:

When I make a mistake, I am said to --calculate.
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1. mis--
2. dis--
3. over--

4, un--

Correct Answer :-

¢ mis--

28) Fill in the blank with the most appropriate preposition in the given sentence.
Turn the lights outside. We don’t need them.

1. in

2. 0n

3. at

4, off

Correct Answer :-
o off

29) Choose the most appropriate determiner for the given sentence.

He gave of us advice about our present goal.
1. each

2. every

3. much

4, the whole

Correct Answer :-
e cach

30) Choose the right tag:

It rained this morning, ?
lisit
2.isn't it

3.did it
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4, didn't it
Correct Answer :-

o didn'tit

Topic:- Social Science (SSC)

1) Iatch the following Education Centre with places.
1.Nalanda A Bengal
2. Somapura B. Kashmir

3.Jagaddala C. Bihar
4. Sharada Peeth | D). Bangladesh

| TeATeTaa fETaTT chal ol T2maAr & Gmer e o
1. Aelar ATl

2. @HT | B.HEHR
3. S | C.T¥ER
4, NGl WIS | D. S1aelcel

1. 1-A,2-B,3-C,4-D
2. 1-C,2-D,3-A 4-B
3.1-C,2-B,3-A,4-D
4.1-C2-B,3-D4-A

Correct Answer :-

- 1-C,2-D,3-A,4-B

2) The major disadvantage of dramatization is: / AlCH g FUTaR BT Uqd Jhar- %I
1. It is not suitable for all subjects and topics / g T+ Tt 3R T & fore Sugea TeI g1

2. It improves group cohesion / I8 Jqg AHTW | JUR PRl gl

3. It promotes self-confidence / T8 STETIYT B! F@Tal Gl gl

4. It provides opportunity for self-expression / Ug 3MTd-3H{Afdd o [Ty AR UM Bl gl

Correct Answer :-

« It is not suitable for all subjects and topics / T8 Tt fawaf @TM?WWH@P{%I
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3) Which one of the following is not a part of early Jains literature? /

frafifad & @ # te wRfte 39 aiftw o1 e T8 22
1. Brihatkalpasutra / edd cUA

2. Acarangasutra / ARIRITREA

3. Therigatha / QIRTIAT

4, Sutrakritanga / gARNT
Pty mar——
. Therigatha / AT

4) The Guptas issued silver coins known as: / Uﬁﬁﬂi‘cﬁ%ﬁlﬁﬁﬁlﬁ
g, forg weT SITaT 8:

1. Karshapana / &STg0T
2. Dinara/ FRIR
3. Pana /UI-l

4, Rupaka /24l

Correct Answer :-

« Rupaka /2UldhT

5) When does Election Commission orders countermanding of elections? / g-ITd ST

ATl & 9 HIA T S Hd Sar g2
1. In case of scuffle among contestants / Qﬁlm & Eﬂ?JBTQ‘ITCﬂT'qF & 7 T
2. In case of booth capture / Y D ol[ Eﬁef CANCI R

3. If nominated candidate belonging to a recognised party dies at any time after the last date of

nomination / Ife fHdt ArTar Ut urdf 9 T1ferd IFilear ot S ot sifaw fafy & a1
fodt +ff v g I Sl B

4, If a new party joins the contest / W@éﬂémﬁwa@ﬁ # i gt 3

Correct Answer :-

« If nominated candidate belonging to a recognised party dies at any time after the last date of

nomination/aﬁwwmqﬁawmaﬁqﬂqﬁﬁmm%m
foreht off v g g S g
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A Social Science teacher has developed an objective type test but she has a doubt about the
reliability of the test. What should be done to ensure the reliability of this test? / T TTHIG
fagT Rar A T axg1E UeR B THa I9d $1 8, Afe S vdian P fAygaa wdeg 2159
gteror Y fasa-aar e s & forg @ fear s aifge?

1. Cut short the length of the test / TRI&0T ﬁaané FH P

2. Increase the number of questions / U4 Bt TLHT 9GIT

3. Try for test retest method / URI&U-GH:URT&r0T fafd T U

4, Divide the test into two halves / TR1&01 & & fowdll § fauorg &%

Correct Answer :-

« Try for test retest method / TRI&UI-G-T.GR1&0T fafer &1 vy

7) In which year did India face the Chinese aggression? / o af § yRa = A+ smpHur
BT AT faar?

1. 1955
2. 1964
3. 1962
4. 1965

Correct Answer :-

« 1962

8) Who acts as a link between the Council of Ministers on the one hand and the President as

well as the Parliament on the other? / T% 3R HEURTG 3R Q'\‘lﬁ 3R TG & A1Y-A1Y
APUfd & § TP 3! & ©U H B B Sl 82

1. Vice-President / BTITIE'CI'I?{

2. Prime Minister / GUTTHAT
3. Cabinet Secretary / Ffae gfra
4. Parliamentary Secretary / e gfud

Correct Answer :-

« Prime Minister / GUTTHAT

9) Who among the following is considered to be an architect of modern Social Science? /

Frafafaa & 3 5 snyfe ariome i o1 ageR a1 ST 82
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1. Auguste Comte / IR P
2. James High /ST B8

3. Emile Durkheim / SHIST Qﬁfﬁ
4. Charles Beard / 9T sUS

Correct Answer :-

« Emile Durkheim / SHTSd g@H

10) Who was not part of ‘Navaratna’ of Akbar? / 3[PdX & TaRE" BT %’\"\‘IT aﬁ=r=r€r Yr?
1. Birbal / SR&d

2. Raja Todar Mal / XTSI creX 7

3. Raja Bhara Mal / XISl HR Hcl
4. Tansen / A

Correct Answer :-

 Raja Bhara Mal / XISl HIR HA

11) Who used to be the chairman of Planning Commission? / IS ST & Seqef P

Bid g2

1. Comptroller and Auditor General / IEBEEH 3ﬁ? ﬂ?’l@l@ WW
2. Commerce Minister / ClUSEE]]

3. Prime Minister / TeTHAT

4. Finance Minister / fog At

Correct Answer ;-

o Prime Minister / AT

12) Who developed Sociometry as a technique for assessing relationships among members in
a social group? / T ATHINTS TYE U TS| & a1 JaHl BT SATHa-T S & oY Th ddh-i1d &
U H fram gumeifafa o1 foer fear?

1. J.L. Moreno / @UIEI'. AR
2. Max Weber / §9 3R

3. Henry Murray / g1 Eff

4, John V. Michael / Si19 dt, ATsd
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Correct Answer :-

« J.L. Moreno / @T.QFI'. ARAT

13) Akal Takht in Harmandir Sahib was built by: / Eﬁ'ﬂ'ﬁ'\" W%E H 3pTd aved BT
ferator frm grT oo T

1. Guru Nanak / 7[% I

2. Guru Angad / % 371G

3. Guru Hargovind / % UG
4. Guru Govind / 1[® Tifdg

Correct Answer :-

+ Guru Hargovind / 7[> 8X1 IEE

14) is the quantity of all goods of imports and exports in a year by a country. /

U IUERITE 9y § Mg R Frata ¥ wf wrel Y aen R

1. Tariffs / URJeh
2. Volume of trade / STIR TRHTOT

3. Quotas / Picl

4. Embargo / UIUR-Y Ry

Correct Answer :-

« Volume of trade / STUR TRHTOT

15) implies severe indictment of the government though it does not require

resignation of the Council of Ministers. / BT A0 IRER & TR IR & %
BT TS fog #Rulug ¥ i 1 sTazadmdr T8 2
1. Cut Motion / el UdTd

2. No - Confidence Motion / Gﬁ%lm UdTd

3. Adjournment Motion / ARG R

4. Censure Motion / IEIEI Udld

Correct Answer :-

« Censure Motion / a1 U@
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16) society feels concerned about meeting the needs of all its members. /

T 3T A AW B SRl B RT3 & IR A FRfarehe wwar 2
1. Egalitarian / JHHIEHRaATG!

2. Elitist / SYiaarcl

3. Class Oriented / I 349

4. Sectarian / HIUGIRIE

Correct Answer :-

. Egalitarian / FHMIIHRaATG!

17) is a process of increasing knowledge, skills and capacities of the people of the

country. / I F AN P T PINA SR &FdTS B g1 PI b ufhar gl
1. Human resources / {T-d JHTYT

2. Human Capital Formation / HI-1d Usrﬂ o

3. Physical capital formation / ifae U'Srﬁ o

4. Capital formation / tljrﬁ famor

Correct Answer :-

+ Human Capital Formation / HI-Id Uﬁﬁ o

18) The Rig Veda samhita denotes one-fourth of its hymns to : / Hidg LIEG | W Th-

TS Wl B 37 forg gRITaT T 3:
1. Agni / 3

2. Indra /8%

3. Rudra / ¥%

4, Marut / HRxd

Correct Answer ;-

o Indra/ 3?‘("

19) The matters or subjects of common interest to both the Union Government as well as
State Government are included in list / % TRPR 3R IoT TWHR Il & ﬁ'ﬂ'{
AR fea & A an fowa Tt & =nfae g §1

1. Concurrent / ﬂﬂﬁ?ﬁ
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2. Union / 99
3. State / IISY
4. Uniform / U JHT

Correct Answer :-

» Concurrent / ﬂ'ﬂﬁ?ﬁ

20) The government of India established to coordinate the activities of all
institutions involved in the rural financing system. / HIRd ARPIR A yrtor o sgawT A
e Tt HR Bt wfafafiEt & aaeaa & fRig BT RITTT B 51

1. National Board of Agriculture and Rural Development / TI@TI Tﬁf 3R 7T g ars

2. National Board of Agronomy and Rural Development / T@q ?ﬁf fasm= 3R TrioT far sis
3. National Bank for Agriculture and Rural Development / ?T@“C[ w 3R o faer S

4, National Bank for Agriculture Reconstruction Development / ?T@'q ?ﬁf ﬂ:lﬁ'ﬁzlfUT o d&

Correct Answer :-

« National Bank for Agriculture and Rural Development / T@q Eabl 3R Trefiur fdpry d

21) The song Vande Mataram was first published in which text in 1882. / dq HIdRH a

Ugell IR 1882 W fohe Saaur § USRI §31 AT
1. Anandamath / 3T-¢ 38

2. None of the above / dqgi:drd oy Ohlg'_ﬁﬁ'
3. Gitanjali / TSIl
4. Gita Rahasya / T X8

Correct Answer :-

« Anandamath / 3H¢ HS

22) The method of learning in which the students are given an open question and they design

investigation methods to arrive at conclusion is known as: / e @t fafd foraw ol &1 v
iffofa wy fear smar 8 ik 3 e wR ug=m & fore s faftr &t fewirg= #va &1 st #Y s
Ui &Y & EYH AT ARG

1. Conformation inquiry / fa&qur EIE]
2. Guided inquiry / FERId Sirg

3. Open inquiry / el Sifdl
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4, Structured inquiry / IR A

Correct Answer :-

« Guided inquiry / &R S

23) The main tenets of Mahatma Gandhi’s basic education is: / HgTeT ieh S Hiferes Rram &1

7= Risid &
1. Education should develop a strong man / RI&l &1 Ueb Helgd AW BT f[AbTH BT dlfgU|
2. Education should be self-supportive / & 3R gt =gl

3. Education should be based on cultural and social heritage of the Land / TRi&m &= ot Wﬁﬁl’?
3R ArHTSTep faRTEd TR SR g+ =Tl

4. Education should be activity-centered / fQT&ﬂ Wﬁﬁﬁ-ﬁo—aﬁ élﬁl EIT%'QI

Correct Answer :-

« Education should be self-supportive / fRI&T TR B ArfeTl

24) The process of hiring an outside contractor, especially from foreign countries, to perform

their work is termed as /WW%WM@WWW@W
Wﬁgﬂmﬁm‘éﬁ?mﬁﬁﬁmﬁ%mmﬁ% & =q ¥ yfeHTiva ot
STl Bl

1. Outer Space financing / dIgl &{¢] foramor
2. Overseas financing / faext faaayor

3. Outstation sourcing / dTgl T Tl

4. Outsourcing / Eﬂ%@?ﬂ

Correct Answer :-

« Outsourcing / H%@T‘Ff

25) Which one of the following is not a characteristic of evaluation? / Fafafead 3
i &1 U faRivar 181 32

1. It implies a systematic progress / 3HPI AT U AT WI] a3l
2. It is a continuous process. /%WWW%I

3. It always assumes that educational objectives have previously been identified and defined. / g

R AT 91T g fob RAfdrep S22t ) Uge g 3R uRHIa fear mn 1
4. Tt does not give emphasis to personality changes. / I8 Sfda@ URad- TR SR &l ar g
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Correct Answer :-

« It does not give emphasis to personality changes. / I8 Sfadd URacd IR SR T8 el g
26) Which statement about Kabir is correct? / P&l & G § DI T U '\‘Iﬁ' %?
i. Kabir Das was disciple of Ramananda. / HAR SN MG & fRrsg A

ii. Kabir belonged to the Muslim weaver family. / &R 'E[%IT{ EEEXS TRaR | &1

iii. Kabir believed God is one and people just worship him with different names. / HAR BT

AT AT b $24% T ® 3T ol 9 39 fafdrer =il @ gord 21
1. All are correct / & Tgl §

2. Only ii // Pad ii

3. Only iii // PAd iii

4. Only i/ Ppad i

Correct Answer :-

o All are correct / 9d w %

27) Which of the earthquake wave travels fastest? / T 'lffﬂﬂ'q T P Gad e T
B 32

1. P-Waves / Ul-ciRdl

2. S-Waves / T-ciA]
3. L-Waves / Qﬁ-ﬁ?ﬁ
4. T —waves / C1-adl

Correct Answer :-

o P-Waves / tﬁ-ﬂ?ﬁ

28) Which programme of the Government of India promises to extend livelihood security to
the rural households by providing one hundred days of guaranteed wage employment in
every financial year to every household? / HIRd HIDPIR Bl B T BTRIHH WA
forit o 9 T 9t faT Y TRE a1 AR USSR o aRkari &t srsiiaeT
GR&T & BT dq1GT BT 52

1. Jawahar Rozgar Yojana (JRY) / GIdlgX ISR IS (@f\?v{[?a'l_&f)
2. Sampoorna Gramin Rozgar Yojana (SGRY) /Wf T SR AT (Q?[\‘:ﬂaﬂ?ars‘)
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3. Integrated Rural Development Programme (IRDP) / W 0T [dh™ Brishd

(3113, 3R 1.1

4, The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / HelHI Tieft

RIS ATHIO ISR TRE g (#=m)

Correct Answer :-

« The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / HelH] et

RIS UHTOT ISR TMRET SifAfas (@)

29) Which is miniature of the parliament of India at the grassroots level? / HeTHd &IX UX
YRA B TG BT TY U T 82

1. Gram Panchayat / I UId
2. Gram Sabha / YTH HH]

3. Block Panchayat / CYICACEIRG]
4. Zilla Parishad / fSrem ufveg

Correct Answer :-

o Gram Sabha / UTH HHI

30) Which among the following is not function of Central Bank of India? / fafafead

1 Aed dF ATE $fEar &1 ord A8t 82

1. Custodian of foreign reserves / TdG Rl Hal HSR &1 HfIRED

2. Operation of Direct Benefit Scheme to the rural poor / IO RIS & [T Tciél AT ior1 &l
BEISK]

3. Bankers bank / éﬁ CAKED

4, Controller of credit / 25U (BPIT'SC) CARRUEL?

Correct Answer :-

+ Operation of Direct Benefit Scheme to the rural poor / 0 RIS & [T Tciés T Ao ol

31) Which among the following countries typically follows a free market economic system? /

frafefad 3= & Q 19-91 331, o IR TR Jorrelt o7 Sr¥Ror S a1 82

1. Cuba / =Jdl
2. South Africa / GI&TOT 3THIHT

3, China / 99
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4. USA / GG ST SR

Correct Answer :-

. USA / Igad T SHRIPT

32) Which mass based organization’s initiative led to the passage of Right to Information

Act?%mwarwwwummﬁ%mmaq%ﬁwmﬁimﬁ
RN EEY

1. National Campaign for Human Rights Initiative / AHFATYHR Ugd o iy QT@H SR
2. Great Legalisation Movement India / Hgl %%ﬂw 3ﬂaﬁ7{ HRd

3. Mazdoor Kisan Shakti Sangathan / HoIgY [ERIGRICS ST

4, Self — Respect Movement / ¥d-HHT 3figie

Correct Answer :-

» Mazdoor Kisan Shakti Sangathan / HoTgY [ERIRICSESHE]

33) Which Commission was appointed by the Government of India to bring changes in
secondary education system to make it better for the nation?

/ HIRT TRBR GRT T START 1 Y & forg dgar s 37 dreafire Riam yomedt §
gard aM & fore fFrge foear ure

1. Mudaliar / G&TTCRIR

2. Srikrishna / SIS
3. Ramaswamy / HRATH!

4, Kothari / 13RI

Correct Answer :-

. Mudaliar/ﬂ&li%ﬂl?

34) How much time difference is there between two longitudes? / &l S=MeRI & o fopan
HHY 3R TA18?

1.2 min /2 fiAC
2. 12 min/ 12 TOFC
3. 8 min / 8 fBFIC
4, 4 min / 4 fiC
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Correct Answer :-

« 4min/4 e

35) How many ‘subjects’ have been assigned to Local Governments through Constitutional

Amendments? / GAUTFD TN & ATHT T VI IRBR] ! fbaq fawm Oid @ %'?

1.10

2.19
3.39

4. 29

Correct Answer :-

« 29

36) Which of the following is an outcome of pragmatic school of philesophy? / FEfEa & 9 CaE|

SRR & ATagRYAS [AeTed BT TS U g: -
1. Project method / GRS (Wioide) fafd

2. Discussion / GR@d1

3. Team teaching / <ty fRreror

4. Source method / Fid fafer

Correct Answer :-

e Project method / qiEisHT (Eﬁ@ﬂi’) fafe

37) Which diagrammatic representation would you like to choose to show Proportionate Allotment

of National Income to different categories? / fafirsr Aforay & ?T@Tl AT & &I'F;[':ITW 3Tde &I
oM & forw e farsr emvia fAegor &) g=-T1 A a?

1. Flow diagram / Ydlg Mg
2. Time Lime diagram / CIgH <IgH 3G

3. Bar diagram / dIR 3R
4. Pie diagram / tn‘s‘ 3R

Correct Answer :-

o Pie diagram / tna‘ 3G

38) The National Curriculum Framework, 2005 insists that Social Sciences must link child’s life at

school with: / ITETI UTSTTTT BT TULET, 2005 TH 910 W SR gat 7 6 T & Amrivre fagm
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®1 g & Siia I 9 gRT SIs+1 913 ¢: -

1. Real life outside the classroom / B&T P STEX B ARIdD SIa-
2. Life inside the classroom / H&T & HiaR Sita-

3. Textbooks in the classroom / D& 1}[‘II'I_O'"_&I'%$

4, Teacher’s expectation / f1e/® Pt argef

Correct Answer :-

« Real life outside the classroom / P& b T8 BT IRAAD S

39) The Aihole Inscription is ascribed to which of the following rulers? / Fraferfed amae! A
¥ frad gRT teia e e 9 s 82

1. Kharvela /@Raa

2. Bimbisara / f9ffe R

3. Rudradaman / >%GIHT

4. Pulkeshin Il / GTeh =i fgdia

Correct Answer :-

« Pulkeshin I /WW

40) Which of the following is a plantation crop? / Fofafaa 7 9 sF-d Uh q&nﬁw B
a?

1. Sugarcane / 4T

2. Cashew nut / ]
3. Cotton./ DU
4. Red Chili / @1 TRl

Correct Answer :-
+ Cashew nut / PIs|

41) Criterion-referenced evaluation refers to: / HFHGS-3gRId Yeaid &1 arad
gl

1. Evaluation based on a set of predetermined criteria / Jd R8TRT AFCS! & TP I & YR W
W DAl

2. Evaluation conducted without any arbitrary norms / f&&t ¥t 770 AFE S & edie & fo
SITRIINSTA AT
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3. Evaluation carried out after conducting pilot test / UR{Heb TRI&UI B & dIe Heich Bl

4, Evaluation administered as post-test mechanism / Jedich o §1G URIEU o & U T URIMRT DAl

Correct Answer :-

« Evaluation based on a set of predetermined criteria / Jd FeiRd AMES! & Udb Y & YR T
TIH HAT

42) In collaboration with an organization in which among the following countries, the
Ministry of Earth Science has launched ‘Project Varsamana’ as a cornerstone of the Indian
meteorological department modernization programme? / T I3 & Tgui § Fafafed
20 A | frad, gedt fagm wamea 3 U 9w Iy snyfRaieror sriey ot snuriRrer &
U ¥ ‘Wisiae qqiH-=T TR fHar 82

1. France / W19

2. Russia /=Y

3. USA / 3R
4, Germany / AT

Correct Answer :-

« France /W19

43) CANCELLED

Which of the following is the narrowest strait of the world? / m k) Eﬁ? 3| gﬁrcn J|
Y YD1Vl TASHE A (STAHl) 82

1. Strait of Dardanelles / TG o SIerife
2. Foveaux Strait / TpIdl STerei (]

3. Bab-cl-Mandeb / ST§ 3 Had
4, Strait of Tartar / TR DI ST

Correct Answer :-

« Strait of Tartar / aTeR Bl STAd (Y

44) CANCELLED

Which one of the following is not included as a function of summative evaluation? / Fafafaa

T Q B9 GRS eaip- & 1 & = § e 781 82
1. Promoting / W8

2. Selecting / T BT
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3. Discriminating / fa9E® R
4, Crediting / 99 &1

Correct Answer :-
« Discriminating / fANg®R!
45) CANCELLED

Which one of the following is not a characteristic of critical thinking skills? / Frafafaa & &
w1 fawe |ig $Iva 3t T faivar 781 32

1. Being time consuming and laborious / 3T FHT T aTel 3R ufeeedt g
2. Being resourceful and creative / H1¢= U 3R A BT

3. Being systematic and deductive / SIafRId 3R fagiere g

4. Being reasonable and rational / AT 3R THIT BT

Correct Answer :-

« Being time consuming and laborious / 3T FHY ¢ aTell SR iyt g
46) CANCELLED

The industry which produces machine tools which are, in turn, used for producing other

goods for consumption purpose. / I8 INT S ARA SRRy WWW%, <l gga
T, SUURT & ST A 3T G 31 BT SUTGH B3 P fore SuaiT fvd wrd 21

1. Fiscal goods / ST NI A1d
2. Capital goods / qﬁﬂ"'lﬂ HId
3. Consumer goods / SUHIERIT T

4. Perishable goods / TRTH B Td HId

Correct Answer :-

47) CANCELLED

Who translated Ramayana and Mahabharata from original to Oria language? / §&1 ]

SNTSST UTHT T IRV 3R TETURT BT SaTG fora- fpar?
1. Fakir Mohan / B R HIg
2. Madhusudan Rao / HYJa (d

3. Radha Nath Ray / Tl AR
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4, Lakshmi Nath Bezbarua / A& 1Y o3

Correct Answer :-

« Fakir Mohan / BHR IﬁE:[

48) CANCELLED

The cold layer extending up to the ocean floor is called? / HH% ddl ddh Helt S R B

I BT WATdaT 22

1. None of the above / 3Udad # A &5 8l

2. Epilimnion layer / ufuferafad wa
3. Thermocline layer / ?—Iﬁaaﬁ_"f Ud

4, Hypolimnion layer / HELIINGIEUERVEG|

Correct Answer :-

« Hypolimnion layer / gRUIferEad IRa

49) CANCELLED

Iatch the following:

1. Din-i-Ilahi Ao Abul Fazl
2. Eam Charit Manas | B. Tulsi Das
3. Ain--Akbar C. Babur

4. Tazuk-I Babari D. Akbar

/ TerFTTei@d &t f&ere:

1. Eid-T-Seltgl A 37Tl Falel
2. UH IR HAT | B. o &
3. UAT-HERT | C. IR
4. Geh--FEll | D 3heR

1.1-A,2-B,3-A,4-C
2. 1-D,2-A,3-B,4-C
3. 1-B,2-C,3-D,4-A
4.1-C,2-A,3-B,4-D

Correct Answer :-
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« 1-A,2-B,3-A4-C

50) Continuous and Comprehensive Evaluation has transformed the evaluation system as: /

Tad 3R TIPS YedichT A Yedih+T YOIl o1 & U § Fuiaied R fear g1
1. More complex by incorporating too many details / §gd IR fdaxull &I =MfHd dxb 3R 3ifYe wifed
2. More comprehensive for scholastic areas only / Faq Qe exl & o siftres e

3. Vague as exact rank of the student cannot be found out / 3rIUY, Fifdh B & Tt Yb BT T T8t
IR S Fhall §

4, More reflective of the entire personality of a student / U SH & ‘IUTBEI% & fawg & sifde
[EGRRUK]

Correct Answer :-

« More reflective of the entire personality of a student / U BT % GU] Afadd o Awd I 31w

51) The chalcolithic site Inamgaon of ancient India belongs to which of the following states?

/ﬁaﬁ%‘mﬁ@mwﬁmmmmwwmﬁmwmﬂm
Halﬁla ?

1. Maharashtra / ﬂE'RTE

2. Rajasthan / TSR
3. Karnataka / HlcH

4, Gujarat / 1[oIRId

Correct Answer :-

o Maharashtra / IIE’RTQ

52) In which of the following session of the Indian National Congress the resolutions on
Fundamental Rights and National Economic Policy were passed? / YRA TI'@T[ CapEs kg

o 7 @ form v A Hiftre it ofk w1gia e -fifa o deew uiiva fsd mae
1. Faizpur, 1936 / TFoTQR, 1936

2. Lahore, 1929 / @GR, 1929

3. Karachi,1931 / Tl 1931

4. Belgaum, 1934 / §TIH, 1934

Correct Answer :-

« Karachi, 1931 / B, 1931
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53) The first mass movement against British India was : / IR EGK D WWW GI'IE-']FF-T Ur:
1. Non-Cooperative movement /ﬁ?ﬂﬂm 3figra

2. Swadeshi Movement / el 3figia

3. Quit India movement / W@@H@ﬂ:{

4. Khilafat Movement / FE@Td Sfigra

Correct Answer :-

« Swadeshi Movement / Tclt 3figra

54) Margosa oil is obtained from which of the following trees? / T o Fefafea 3 9
frg U 9 UTw gian 82

1. Ficus / BoIgh Y

2. Babul / de[cf
3. Neem / Gt

4, Bamboo / 919

Correct Answer :-

. Neem/:ﬂ'q

55) Which among the following is the World’s largest Wetland System?

/ FFraferfad & 3 o Ot iy 3 a3 g1 smEyfH ummedt @ed's Rvew) 82
1. Everglades (USA)/@WG{Q@E)

2. Okavango (Botswana) / 3fTpTar ( GI\IOHCIHI)

3. Pantanal (South America) / Ud-cllcl (ETEI'UT @@'WD
4, Camargue (France) / FHRAT (P1)

Correct Answer :-

« Pantanal (South America) / U=d-cIl¢T (?{E‘l'UT GP?IWD

56) Scientific study of soil is known as which of the following / FERIRIT & & Hal &1
AP ST FAT HEATAT 52

1. Soilology / F\I’_s"@?f\f\_rﬁ
2. Pedagogy / USHITSI
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3. Pedology / LSS
4, Ontology / 3ficrarst

Correct Answer :-

« Pedology / USIQTSIt

57) Greenland comes under which of the following Jurisdiction? / "}ﬁqa'g, fafafaada

frad aiftrepr-a= 7 armar g2
1. Danish / ST

2. Norwegian / ATd forg

3. US / SR

4. Dutch /9

Correct Answer :-

» Danish / ST

58) Which year was ‘Project Tiger’ launched in India? / YRd ¥ & a9 # ‘Wiviae elgTR’
SR¥H foraT T UT?

1. 1973
2.1974
3. 1971

4. 1972

Correct Answer :-

« 1973

59) Who succeeded Shivaji Maharaj as the Maratha king? / HTST XTSIl & wq ¥ Rrareit
HERTST BT SRS DI T1?

1. Shahji / TTgSit

2.Shahujil /R I§Gil I
3. Rajaram I/ X[SIRIH I

4. Sambhaji Bhosle / FHTST HIel

Correct Answer :-

« Sambhaji Bhosle / FHTST HIFTA

Page- 55



60) Social Learning theory was introduced by: / JMHI® ST Rigia ¥ grT o9 far
T YTl

1. Sigmund Freud / RS Wwiag
2. Carl Jung / STel I

3. Carl C. Rogers / Tel 9T, o
4. Albert Bandura / 3c9¢ gl

Correct Answer ;-

« Albert Bandura / 3{csc g
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